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�><??5>F GG55=>= <555?< 4?O ?D5?>4464F5?O, 

�><??5>F GG55=>= <555?< 4?O >5GG4NM<EEO =4 20 <5EF; �><??5>F 

GG55=>-=47?O4=OE ?>E>5<= ?> <=65=5D=>-F5E=<G5E><< 4<EF<??<=4<; 

%F5=4 '�� (46<74F5?L ,���, D4744F>G=4O)-1 LF 

%F5=4 46<74F5?L ���-2101 3 LF., 

%F5=4 46<74F5?L ���-131- 1 LF.. 

%F5=4 46<74F5?L ����� 3 1 LF., 

%F5=4 46<74F5?L ��� 6 E5>D5 E ��� -1 LF., 

%F5=4 ���-2101 (46<74F5?L, ?5-D54=OO ?>465E>4) 3 1 LF 

%F5=4 46<74F5?L ���� 3 1 LF. 

%F5=4: D4744F>G=4O >>D>5>4 ����� -4310 -1 LF., 

�G?LF<<54<==>5 >5>DG4>64=<5: 

�D>5>F>D ViewSonic PJD5123 (?5D5=>E=>=) - 1LF, �>GF5G> Samsung 

(?5D5=>E=>=) - 1LF, ->D4= 4?O ?D>5>F>D4 SCREEN MEDIA =4 FD5=>75 

(?5D5=>E=>=) - 1 LF. 

�?5D4F<>==4O E<EF5<4: Calculate Linux; 

�=F5D=5F 5D4G75D: Firefox; 

�D<E=>5 ?D<?>65=<5: LibreOffice; 

�G?LF<<54<4: SMplayer; 

433511,  

'?LO=>6E>4O >5?4EFL, 

7. �<<<FD>67D44,  

G?. �G=5OL564, 4.310 



�D4D<G5E><= D544>F>D: gThumb. 

�><5M5=<5 4?O E4<>EF>OF5?L=>= D45>FO 7 36 «�><?LNF5D=O= 

>?4EE» 

�><??5>F GG55=>= <555?< 4?O ?D5?>4464F5?O, 

�><??5>F GG55=>= <555?< 4?O >5GG4NM<EEO =4 38 <5EF; 

�=F5D=5F->4<5D4 D-Link DCS-910 12.10.2009 3 1 LF., 

%<EF5<=O= 5?>> «Colors»-4LF., �>=<F>D «Samsung»- 6 LF., �>=<F>D 

«LG»-6 LF. 

�D<E=O= ?4>5F Microsoft Office Professional Plus 2007 Rus 

�DE<64F>D 7-zip. 

Microsoft Open License 62300500ZZE0906 >F 14.06.20077. 

433511,  

'?LO=>6E>4O >5?4EFL, 

7. �<<<FD>67D44,  

G?. �G=5OL564, 4.310 

�><5M5=<5 4?O E4<>EF>OF5?L=>= D45>FO (G<F4?L=O= 74? 5<5?<>F5><) 

�><?LNF5DO: Intel(R) Celeron(R) CPU 1.70GHz / ��' 384Mb - 4 LF. E 

6OE>4>< 6 E5FL �=F5D=5F, EF>?O < EFG?LO =4 80 ?>E44>G=OE <5EF. 

�D<E=O= ?4>5F Microsoft Office Professional Plus 2007 Rus 

�DE<64F>D 7-zip. 

Microsoft Open License 62300500ZZE0906 >F 14.06.20077. 

�D>7D4<<=>5 >55E?5G5=<5 «�D>7D4<<=4O E<EF5<4 4?O >5=4DG65=<O 

F5>EF>6OE 74<<EF6>64=<= 6 GG55=OE < =4GG=OE D45>F4E «�=F<??47<-

4F.�'�» . �>7>6>D 7 18 >F 28 <4O 20197. 

433511,  

'?LO=>6E>4O >5?4EFL, 

7. �<<<FD>67D44,  

G?. �G=5OL564, 4.310 

�><5M5=<5 4?O ED4=5=<O < ?D>D<?4>F<G5E>>7> >5E?G6<64=<O GG55-

=>7> >5>DG4>64=<O 7 64 

�555?L 4?O ED4=5=<O. %N5<=>5 < 6E?><>74F5?L=>5 >5>DG4>64=<5, 

=4E>4OM55EO =4 ED4=5=<< < >5E?G6<64=<<. 

433511,  

'?LO=>6E>4O >5?4EFL, 

7. �<<<FD>67D44,  

G?. �G=5OL564, 4.310 

�><5M5=<5 4?O ED4=5=<O < ?D>D<?4>F<G5E>>7> >5E?G6<64=<O GG55-

=>7> >5>DG4>64=<O (>><?LNF5D=>= F5E=<><) 7 32a 

%F5??46-1 LF., ?>?>4 1 LF., EF>?-8 LF.,  

 =>GF5G> Samsung NP300 E5C - 1 LF.,  

�?5D4F<>==4O E<EF5<4: Calculate Linux 

>D<E=O= ?4>5F LibreOffice 5.3 (&5>EF>6O= ?D>F5EE>D (LibreOffice 

Writer), -?5>FD>==4O F45?<F4 (LibreOffice Calc), �D575=F4F<O 

(LibreOffice Impress), $544>F>D D<EG=>>6 (LibreOffice Draw), �47O 44=-

=OE (LibreOffice Base)) 

�DE<64F>D 7-zip 

�5DE>=4?L=O5 >><?LNF5DO ?D>F5EE>D Intel(R) Pentium (R) CPU 3GHz 

/ ��' 1,49Gb 3 6 LF. 

�?5D4F<>==4O E<EF5<4: Calculate Linux 

>D<E=O= ?4>5F LibreOffice 5.3 (&5>EF>6O= ?D>F5EE>D (LibreOffice 

Writer), -?5>FD>==4O F45?<F4 (LibreOffice Calc), �D575=F4F<O 

(LibreOffice Impress), $544>F>D D<EG=>>6 (LibreOffice Draw), �47O 44=-

=OE (LibreOffice Base)) 

�DE<64F>D 7-zip 

433511,  

'?LO=>6E>4O >5?4EFL, 

7. �<<<FD>67D44,  

G?. �G=5OL564, 

4.310 



$45>G4O ?D>7D4<<4 E>EF46?5=4 6 E>>F65FEF6<< E FD55>64=<5< $��% �� ?> 
=4?D46?5=<N 23.03.03 «->E??G4F4F<O FD4=E?>DF=>-F5E=>?>7<G5E><E <4L<= <
>><??5>E>6», GF65D645==O= ?D<>47>< �<=<EF5DEF64 >5D47>64=<O < =4G>< $>E-
E<=E>>= $545D4F<< >F 07 467GEF4 2020 7. N 916. �D>D5EE<>=4?L=O= EF4=44DF 
13.001 %?5F<4?<EF 6 >5?4EF< <5E4=<74F<< E5?LE>>7> E>7O=EF64, GF65D645==O= 
?D<>47>< �<=<EF5DEF64 FDG44 < E>F<4?L=>= 74M<FO $>EE<=E>>= $545D4F<< >F
02 E5=FO5DO 2020 7. 7 555= (�5>5M5==4O FDG4>64O DG=>F<O D6 �D74=<74F<O >5-
E?G6<64=<O < M>E??G4F4F<< E5?LE>>E>7O=EF65==>= F5E=<><, FDG4>6O5 DG=>F<<: 
D/01.6 �D74=<74F<O F5E=<G5E>>7> >5E?G6<64=<O < D5<>=F4 E5?LE>>E>7O=EF65=-
=>= F5E=<>< 6 >D74=<74F<<; D/02.6 �D74=<74F<O M>E??G4F4F<< E5?LE>>E>7O=EF-
65==>= F5E=<>< 6 >D74=<74F<<; D/03.6 �D74=<74F<O D45>FO ?> ?>6OL5=<N MD-
D5>F<6=>EF< F5E=<G5E>>7> >5E?G6<64=<O < M>E??G4F4F<< E5?LE>>E>7O=EF65==>=
F5E=<><).

 $45>G4O ?D>7D4<<4 >4>5D5=4 =4 74E544=<< <5F>4<G5E>>7> E>65F4  <=65=5D=>-технологического  
D4>G?LF5F4 «_15_»_<4O_2023 7>44, ?D>F>>>? 7 _10_ 

$5F5=75=F: �.&.�., ��&��& Хохлов А.А.
�D>7D4<<4 D4EE<>FD5=4 =4 74E544=<< >4D54DO «->E??G4F4F<O <>5<?L=OE <4L<= 
< E>F<4?L=>-7G<4=<F4D=OE 4<EF<??<=» «_15_»_<4O_2023 7>44, ?D>F>>>? 7 _10_.

�6F>D: >.F.=., 4>F5=F Петряков С.Н..


